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ré
sz
e
a

n
a
g
y
fé
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ű
sz
á
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ö
zü
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á
ro
m
sz
ö
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á
g
u
k
ö
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ö
g
b
ő
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rü
le
te
?

1
9
8
1
.
é
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á
g
i
k
á
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rá
n

lá
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ű
h
á
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ó
i
3
cm

és
4
cm

.
M
ek
k
o
ra

a
z

x
-s
ze
l
je
lö
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ző
le
g
es

k
ét
je
g
y
ű
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á
m
o
t
h
á
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zö
g
et

ra
jz
o
lu
n
k
.
Á
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ĺı
rj
u
k
és

a
ka
p
o
tt

sz
á
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tó
l
is

ka
p
o
tt

va
la
m
en

n
y
i
p
én

zt
,
d
e
cs
a
k
a
rr
a
em

lé
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á
tó
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á
ro
m

eg
y
en

lő
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ű
sz
á
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ö
rü
l
A

B
-r
e.

B
iz
o
n
ý
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é
v
i
v
e
r
se
n
y

1
.
K
lá
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ög
ek

cs
ú
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ü
n
k
.
R
a
jz
ol
d
m
eg

a
le
gr
ö-
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öv
et
ő
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rü
le
te
k
ös
sz
eg
év
el
!

3
.
K
ép

ze
le
tb
en

ı́r
ju
k
fe
l
az

ös
sz
es

ol
ya
n
n
ég
y
je
gy

ű
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tá
l,
h
og
ya
n
go
n
d
ol
ko

d
tá
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ög
e
7
◦
-n
ál

k
is
eb

b
!
(A

z
eg
y
sz
er
ű
sé
g
ke
d
-

v
éé
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ög

te
rü
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lő

a
p
on

to
zo
tt

p
ar
al
el
og
ra
m
m
a
te
rü
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öv
et
ő
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zá
m
ı́t
sd

k
i
az

A
B

C
D

n
ég
y
sz
ög
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ől
,
m
eg

az
u
to
ls
ó
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tá
ly
o
so
k
v
e
rs
e
n
y
e

1
9
9
2
.
é
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ű
,
m
a
jd

k
ét
je
gy

ű
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zá
ju
k

le
gk

öz
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áb

ól
h
ú
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ré
sz
re
!

5
.
E
gy

té
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ző

sz
or
za
t
ér
té
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ő
m
in
él

ke
ve
se
b
b
ol
ya
n
9
ta
gú
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ú
te
st
,
am

el
y
n
ek

a
n
ég
y
la
p
ja

n
ég
y
eg
y
b
ev
ág

ó
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tá
vo
l-

sá
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lá
lh
at
ó-
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lá
ló
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lő

él
ek

fe
le
ző
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ór
ái
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é
v
i
v
e
r
se
n
y

1
.
K
ét

fa
lu
,
A

és
B

eg
y
fo
ly
ó
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öz
ü
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sü
te
m
én
y
t
ár
u
ln
ak

.
H
án

y
fé
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gé
h
ez

h
oz
zá
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ög
ű
h
ár
om

sz
ög
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rá
zd

m
eg
,
m
ié
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rü
le
tű
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tő
l

19
99
-i
g.

A
z
ı́g
y
ka
p
ot
t
t́ı
ze
s
sz
ám

re
n
d
sz
er
b
el
i
sz
ám

n
ég
y
ze
ts
zá
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ög

C
cs
ú
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ő
sz
ög
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ög
b
en

m
ag
as
sá
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öz
ő,
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rü
le
te
t
ak
ar
n
ak

b
ek
eŕ
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lá
ló
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jé
b
en

k
öv
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rü
le
té
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